National Testing Agency

Question Paper Name:

Subject Name :
Creation Date :
Duration:
Total Marks :

Display Marks:

Group Number :

Group Id :

Group Maximum Duration :
Group Minimum Duration:
Show Attended Group?:
Edit Attended Group?:
Break time:

Group Marks :

Is this Group for Examiner?:
Examiner permission :

Show Progress Bar?:

SectionId :

Section Number:

Dev and Labour studies 12th March 2024
Shift 1

Dev. and Labour studies
2024-03-12 18:11:04
105

300

Yes

Dev. and Labour studies

1
878270542
0

105

No

No

300
No
Cant View

No

Dev. and Labour studies

878270999

1



Section type : Online

Mandatory or Optional : Mandatory
Number of Questions : 75
Number of Questions to be attempted : 75

Section Marks : 300
Enable Mark as Answered Mark for Review and

Clear Response: Yes
Maximum Instruction Time: 0
Sub-Section Number : 1
Sub-Section Id : 8782701822
Question Shuffling Allowed : Yes

Is Section Default?: null

Question Number : 1 Question Id : 87827045376 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

Rate of Unemployment is calculated by using the formula

1 Number of unemploved people 100
Size of labour force *
2 Labour force — Unemployed people

Total work force

Total population *
Total labour force

4. ——x
Total population

Options :

878270178341. 1
878270178342. 2
878270178343. 3

878270178344. 4

Question Number : 1 Question Id : 87827045376 Question Type : MCQ Option Shuffling : No Is



Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
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Options :

878270178341. 1
878270178342. 2
878270178343. 3

878270178344. 4

Question Number : 2 Question Id : 87827045377 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

Which one of the following activity is not covered in primary sectors?

1. Agriculture

2. Mining

3. Quarrying

4 Transport and Storage

Options :
878270178345. 1
878270178346. 2

878270178347.3



878270178348. 4

Question Number : 2 Question Id : 87827045377 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

878270178345. 1
878270178346. 2
878270178347.3

878270178348. 4

Question Number : 3 Question Id : 87827045378 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Is the apex body which coordinates the functioning of different financial institutions working for the
expansion of rural credit in India

1. Regional Rural Bank
2. NABARD

3. Co-operative Bank
4 Commercial Bank

Options :
878270178349. 1

878270178350. 2



878270178351. 3

878270178352. 4

Question Number : 3 Question Id : 87827045378 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
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Options:

878270178349. 1
878270178350. 2
878270178351. 3

878270178352. 4

Question Number : 4 Question Id : 87827045379 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

Which of the following is not an institutional sources of agricultural credit?

1. Co-operative credit

2. Commercial bank credit
3. Regional rural banks

4 Rich land lords

Options :

878270178353. 1



878270178354. 2
878270178355. 3

878270178356. 4

Question Number : 4 Question Id : 87827045379 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options:

878270178353. 1
878270178354. 2
878270178355. 3

878270178356. 4

Question Number : 5 Question Id : 87827045380 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

Which of the following state is considered as a successful example in the efficient implementation of milk Co-operatives?

1. Odisha

2. Maharashtra

3. Gujarat

4. Andhra Pradesh

Options :

878270178357. 1



878270178358. 2
878270178359. 3

878270178360. 4

Question Number : 5 Question Id : 87827045380 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options:

878270178357. 1
878270178358. 2
878270178359. 3

878270178360. 4

Question Number : 6 Question Id : 87827045381 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

HDI measures the average achievement in three basic dimensions of human development. Which one of the following
measure is not a part of HDI?

1. Along and healthy life as measured by life expectancy at birth

2. A sufficient bank balance measured as savings

3. Knowledge as measured by the adult literacy rate (with two third weight) and the combined primary, secondary and
tertiary gross enrolment ratio (with one third weight)

4. Adecent standard of living as measured by GDP per capita



Options :

878270178361. 1
878270178362. 2
878270178363. 3
878270178364. 4

Question Number : 6 Question Id : 87827045381 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

878270178361. 1
878270178362. 2
878270178363. 3
878270178364. 4

Question Number : 7 Question Id : 87827045382 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1



Which of the following society is based on the concept of Matrilineal in India?

1. KHASI
2. GONDS
3. BODOS
4 MINAS

Options :

878270178365. 1
878270178366. 2
878270178367. 3

878270178368. 4

Question Number : 7 Question Id : 87827045382 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
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Options:

878270178365. 1
878270178366. 2
878270178367. 3

878270178368. 4

Question Number : 8 Question Id : 87827045383 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1



The term matrilocal refers to—

1. Married couple lives with the woman's parents

2. Married couple lives separately from their parents
3. Married couple lives with the man's parents

4. Married couple lives with their extended family

Options :

878270178369. 1
878270178370. 2
878270178371.3

878270178372.4

Question Number : 8 Question Id : 87827045383 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
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Options:

878270178369. 1
878270178370. 2
878270178371.3
878270178372.4

Question Number : 9 Question Id : 87827045384 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1



The policy of apartheid is related to—

1. Caste
2. Race
3. Religion
4 Culture

Options :

878270178373. 1
878270178374. 2
878270178375. 3

878270178376. 4

Question Number : 9 Question Id : 87827045384 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
e P A W & -
1. Sifd
2. 34
3 4d

4 Gxpid

Options:

878270178373. 1
878270178374. 2
878270178375. 3

878270178376. 4

Question Number : 10 Question Id : 87827045385 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1



In which year the Trade Unions Act was passed?

1.1925
2. 1926
3. 1927
41928

Options :

878270178377. 1
878270178378. 2
878270178379. 3

878270178380. 4

Question Number : 10 Question Id : 87827045385 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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1.1925
2. 1926
3. 1927
41928

Options:

878270178377. 1
878270178378. 2
878270178379. 3
878270178380. 4

Question Number : 11 Question Id : 87827045386 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1



Who has given the Law of three stages of Society?

1. August Comte
2. Max weber

3. Karl Marx

4 Emile Durkheim

Options :

878270178381. 1
878270178382. 2
878270178383. 3

878270178384. 4

Question Number : 11 Question Id : 87827045386 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options:

878270178381. 1
878270178382. 2
878270178383. 3

878270178384. 4

Question Number : 12 Question Id : 87827045387 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1



Gross National Income is a

1. Value of goods and services produced by residents of a country and the value of their property
2. Value of services and goods to bring the output production

3. Value of services and goods minus net production

4. Value of net production plus gross production and profits

Options :

878270178385. 1
878270178386. 2
878270178387. 3

878270178388. 4

Question Number : 12 Question Id : 87827045387 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options:

878270178385. 1
878270178386. 2
878270178387.3

878270178388. 4

Question Number : 13 Question Id : 87827045388 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0



Correct Marks : 4 Wrong Marks : 1

Which of the following book is not written by Alfred Marshall?

1. Principles of Economics

2. The Economics of Industry

3. The Present Position of Economics
4 The Political Economy of Hunger

Options :

878270178389. 1
878270178390. 2
878270178391. 3

878270178392. 4

Question Number : 13 Question Id : 87827045388 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Fafafaa # 4 oF O gt sidhs ARid gR1 =gl fodl 115 87

1. AUARE & GEid
3. 3eE ®f gaaH Rufd
4 I B IAoITa® Srefoaaw

Options :

878270178389. 1
878270178390. 2
878270178391. 3

878270178392. 4

Question Number : 14 Question Id : 87827045389 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0



Correct Marks : 4 Wrong Marks : 1

Motor development is concerned with

1. Getting along with people

2. Language development

3. Development of moral character
4 Use of hand, leg, finger etc.

Options :

878270178393. 1
878270178394. 2
878270178395. 3

878270178396. 4

Question Number : 14 Question Id : 87827045389 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

878270178393. 1
878270178394. 2
878270178395. 3

878270178396. 4

Question Number : 15 Question Id : 87827045390 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0



Correct Marks : 4 Wrong Marks : 1

How can we develop human and moral values in a child?

1. Assembly of children
2. Union of children

3. Unlearning of values
4 Proper socialisation

Options :

878270178397. 1
878270178398. 2
878270178399. 3

878270178400. 4

Question Number : 15 Question Id : 87827045390 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

878270178397. 1
878270178398. 2
878270178399. 3

878270178400. 4

Question Number : 16 Question Id : 87827045391 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0



Correct Marks : 4 Wrong Marks : 1

Which of the following is not the Characteristics of Economic development?

_ Sustainable development

_ Diversification of Economy
_ High inflation

_Improved infrastructure

L

Options :

878270178401. 1
878270178402. 2
878270178403. 3

878270178404. 4

Question Number : 16 Question Id : 87827045391 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options:

878270178401. 1
878270178402. 2
878270178403. 3

878270178404. 4

Question Number : 17 Question Id : 87827045392 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A



Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Neoliberalism emerged In the pushing an agenda of free frade and removal of import substitution industrialization
policies.

Options :

878270178405. 1
878270178406. 2
878270178407.3

878270178408. 4

Question Number : 17 Question Id : 87827045392 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

878270178405. 1
878270178406. 2
878270178407. 3

878270178408. 4

Question Number : 18 Question Id : 87827045393 Question Type : MCQ Option Shuffling : No



Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Who among the following is not associated with the theories of personality?

1. Sigmund Freud
2. Carl Rogers

3. Abraham Maslow
4 Max Weber

Options :

878270178409. 1
878270178410. 2
878270178411.3
878270178412.4

Question Number : 18 Question Id : 87827045393 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

878270178409. 1
878270178410. 2
878270178411. 3

878270178412. 4



Question Number : 19 Question Id : 87827045394 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

How many stages of development identified by Robert Havinghurst?

3
4

s ot
o W

Options:

878270178413. 1
878270178414.2
878270178415. 3

878270178416. 4

Question Number : 19 Question Id : 87827045394 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

878270178413. 1
878270178414. 2
878270178415. 3

878270178416. 4



Question Number : 20 Question Id : 87827045395 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which one of the following is not a dimension index of Human development index?

1. Empowerment Index
2. Life Expectancy Index
3. Educational Index

4 GNI Index

Options:

878270178417. 1
878270178418. 2
878270178419. 3

878270178420. 4

Question Number : 20 Question Id : 87827045395 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

878270178417. 1
878270178418. 2
878270178419. 3

878270178420. 4



Question Number : 21 Question Id : 87827045396 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Under which Ministry does National Sample Survey Organization (NSSO) comes under:

1. Ministry of statistics and Program Implementation

linist
2. Ministry of Commerce and Industry

3. Ministry of Electronics and InformationTechnology
4. Ministry of Finance

Options:

878270178421.1
878270178422. 2
878270178423.3

878270178424. 4

Question Number : 21 Question Id : 87827045396 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

fob g HaTed & JfaTid APTT THAT Gaeior §18 (TTUHTE3) 1l &:

1. TiRA®! R HAHY HU-ag- HATY
2 qIfured Ud JeIHT HATGY

3. ZAa-ad 3R G Ui Ay
4. fad d4arcg

Options :

878270178421. 1
878270178422.2
878270178423.3

878270178424. 4



Question Number : 22 Question Id : 87827045397 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which state in India receives highest number of immigrants?

1. Maharashtra
2. West Bengal
3. Uttar Pradesh
4 Bihar

Options:

878270178425. 1
878270178426. 2
878270178427.3

878270178428. 4

Question Number : 22 Question Id : 87827045397 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

878270178425. 1
878270178426. 2
878270178427.3

878270178428. 4



Question Number : 23 Question Id : 87827045398 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The first official census in India was done in the year under Lord Rippon.

1. 1892
2. 1881
3.1874
41899

Options:

878270178429. 1
878270178430. 2
878270178431. 3
878270178432. 4

Question Number : 23 Question Id : 87827045398 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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1. 1862
2. 1861
3. 1674
4 1899

Options :

878270178429. 1
878270178430. 2
878270178431.3

878270178432. 4



Question Number : 24 Question Id : 87827045399 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Who among the following was the Finance Minister of India during the introduction of the New Economic Policy, 19917

1. P. Chidambaram

2. 5B Chavan

3. Dr. Manmohan Singh
4 Madhu Dandavate

Options:

878270178433. 1
878270178434. 2
878270178435. 3
878270178436. 4

Question Number : 24 Question Id : 87827045399 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

878270178433. 1
878270178434. 2
878270178435. 3

878270178436. 4



Question Number : 25 Question Id : 87827045400 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

According to the Human Development Report (2021-22) what is India's rank in terms of Human Development Index out of
191 countries?

Options:

878270178437. 1
878270178438. 2
878270178439. 3

878270178440. 4

Question Number : 25 Question Id : 87827045400 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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1.136
2.132
3144
4. 152

Options :
878270178437. 1
878270178438. 2

878270178439. 3



878270178440. 4

Question Number : 26 Question Id : 87827045401 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which of the following in not a key characteristics of Mahatma Gandhi National Rural Employment Guarantee Act?

1. Employment for all rural households (one member per household) who are willing to work 130 days/year
2. Free registration with a job guaranteed within 15 days of application

3. Fixed minimum wage with weekly payments

4 Atleast a third of employees must be women

Options :

878270178441. 1
878270178442. 2
878270178443. 3
878270178444. 4

Question Number : 26 Question Id : 87827045401 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Frafefed A 8 &1 Aerer M iy e IR TRE Sifbfram @t v fegvae H i T

1. el efion ofear @ o IR (9 ORaR U@ Faw) & 150 fo/ad oM 7 & 555 @ &
2. e & 15 o o iR et &1 MRS & Ty T Teftesyn

3. Ul YIdH & 9 P e Aol

4 SHING § BH Y BF TS fogrs Afeart g1 g

Options :
878270178441. 1

878270178442. 2



878270178443. 3

878270178444. 4

Question Number : 27 Question Id : 87827045402 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Occupation structure refers to

1. Distribution of working persons across primary, secondary and tertiary sectors of the economy
2. Size of labour force in a country

3. Number of people living in a country
4 Nature of different occupation

Options:

878270178445. 1
878270178446. 2
878270178447.3

878270178448. 4

Question Number : 27 Question Id : 87827045402 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

AU Y391 Heldd @l gl

1. srefogen & unufte, Arafiie SR gdla® a4 § oere safdadr o fadwo
2 Tt ST o1 9 BT HBR

3. Torddt S & 35 ard il @1 9

4. Tafiyd ogaurdl & Uald

Options :
878270178445. 1

878270178446. 2



878270178447. 3
878270178448. 4

Question Number : 28 Question Id : 87827045403 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Who of the following 15 not a member of the National Human Rights Commission (NHRC)?

1. Chairperson of the National Commission for Women

2. Chairperson of National Commission for Scheduled Castes

3. Chairperson of National Commission for Minority Educational Institutions
4 Chairperson of National Commission for Scheduled Tribes

Options:

878270178449. 1
878270178450. 2
878270178451. 3

878270178452. 4

Question Number : 28 Question Id : 87827045403 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

frafafad & 9 o AP AFAIIGR AR (NHRC) &1 968 T8l 87

1. TG ARG SATART ST e

2. AP Y S ST & emed

3. JHeugEIe et Gl & o g s & sregef
4. TP YR ST ST & e

Options :
878270178449. 1

878270178450. 2



878270178451. 3
878270178452. 4

Question Number : 29 Question Id : 87827045404 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

I defined as a fixed image or set of charactenistics representing an individual or group, but which may or
may not be true in reality.

1. Marginalisation
2. Stereotyped

3. Discrimination
4 Mistreated

Options:

878270178453. 1
878270178454. 2
878270178455. 3

878270178456. 4

Question Number : 29 Question Id : 87827045404 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

o el e & s & 0 A ot o 7 f o of 1 g e
R &, T o o # T 81 4 9o & AT i

1, 30
R\l
4. TolaeR o

Options :



878270178453. 1
878270178454. 2
878270178455. 3

878270178456. 4

Question Number : 30 Question Id : 87827045405 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

is the highest authority for interpretation of the constitution.

_ Parliament

- President

- Supreme Court
- Prime Minister

A I

Options :

878270178457. 1
878270178458. 2
878270178459. 3

878270178460. 4

Question Number : 30 Question Id : 87827045405 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Options :



878270178457. 1
878270178458. 2
878270178459. 3

878270178460. 4

Question Number : 31 Question Id : 87827045406 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Who is the author of the book titled "The Wealth of Nations'?

1. Irwin Fisher
2. Adam Smith
3. J M Kegres
4 J R Hicles

Options :

878270178461. 1
878270178462. 2
878270178463. 3

878270178464. 4

Question Number : 31 Question Id : 87827045406 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

% 3R A IR D T & G B 2

1. 32id fhaER
2 UsH Yy
3. . U9 U9
4. 9. AR Tghe™

|

=1K

Options :



878270178461. 1
878270178462. 2
878270178463. 3

878270178464. 4

Question Number : 32 Question Id : 87827045407 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which among the following is not included under the Jan Dan Yojana Scheme?

1. Pradhan Mantri Jeevan Jyoti Bima Yojana (PMJJBY)
2. Pradhan Mantri Ujjawala Yojana (PMUY)

3. Atal Pension Yojana (APY)

4 Pradhan Mantri Sukanya Bima Yojana (PM5SBY)

Options :

878270178465. 1
878270178466. 2
878270178467. 3

878270178468. 4

Question Number : 32 Question Id : 87827045407 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

fafaRad 3 9 &1 o4 99 3 9o & Siaid 2nad T8l 87

1. g S wifa S e (dieased i)
2. QUHEAT Iwaan deq (JTHgan)

3. 3fed UM IioHl (TU1ars)

4. Yy gt ot de (dieugdian)

Options :



878270178465. 1
878270178466. 2
878270178467. 3

878270178468. 4

Question Number : 33 Question Id : 87827045408 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

In which year National Rural Livelihood Mission was renamed as Deendyal Upadhayaya Yojana- National Rural Livelinood
Mission (DUY-NRLM) ?

1.2009
2. 2011
3.2015
4.2016

Options :

8782701784609. 1
878270178470. 2
878270178471. 3

878270178472. 4

Question Number : 33 Question Id : 87827045408 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



T TS T STl T & T i i SuTeATy G-I T aifaeeT et (S1gers-
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1.2009
2.2011
3.2015
4.2016

Options :

878270178469. 1
878270178470. 2
878270178471.3

878270178472. 4

Question Number : 34 Question Id : 87827045409 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which committee was constituted in August 1991, which suggested reforms in tax structure?

1. Abid Husain Committee
2. Dutta Committee

3. R.Chelliah Committee
4 KL Rekhi Committee

Options:

878270178473. 1
878270178474. 2
878270178475. 3

878270178476. 4

Question Number : 34 Question Id : 87827045409 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0



Correct Marks : 4 Wrong Marks : 1

3T 1991 # fobw wityfdl &1 7 fopan 7ram o1, o Y U1 | GuRl 1 4371 fear 4

1. 3fifag ga- I
2. ol gk

3. R dferg afffa
4. . U, v 9iHfd

Options :

878270178473. 1
878270178474. 2
878270178475. 3

878270178476. 4

Question Number : 35 Question Id : 87827045410 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

When was Mahatma Gandhi National Rural Employment Guarantee Act (MGNREGA) was officially launched in India?

1.2003
2.2004
3.2005
4.2007

Options:

878270178477. 1
878270178478. 2
878270178479. 3

878270178480. 4

Question Number : 35 Question Id : 87827045410 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A



Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

YRT J T T P A0 AR TR AU (F) S ] febar T ur

2003
2004
2005
2007

B L

Options :

878270178477. 1
878270178478. 2
878270178479. 3

878270178480. 4

Question Number : 36 Question Id : 87827045411 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

Who has authored the book 'Planned economy for India’ in 19347

1. M. Visvesvaraya
2. Ashwani Mahajan
3. Marshall

4 AR Rodon

Options :

878270178481. 1
878270178482. 2
878270178483. 3

878270178484. 4

Question Number : 36 Question Id : 87827045411 Question Type : MCQ Option Shuffling : No



Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

1934 T WIS S HIH BRR STsdr K fag- ferdl 412

1. w9 fagsfar
2. & 7RI
3. HiEid

4 U AR A2

Options :

878270178481. 1
878270178482. 2
878270178483. 3

878270178484. 4

Question Number : 37 Question Id : 87827045412 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which of the following are the important features of social democratic mixed economy model of development?
(A). Co-existence of public and private sector enterprises and nationalization of key industries

(B). National planning by state authorities for industrial development

(C). Allocation of resources and jobs are done through bureaucratised political control

(D). Care Is taken for the redistribution of wealth through progressive taxation

(E). The state implements welfare state policies like minimum wage, social insurance, pension, full employment

Choose the correct answer from the options given below:



Options :

878270178485. 1
878270178486. 2
878270178487. 3

878270178488. 4

Question Number : 37 Question Id : 87827045412 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

frafefad § 9 B9 fadr & g dedis i sroew digd @ Teayy! R 22
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Options :

878270178485. 1
878270178486. 2
878270178487. 3

878270178488. 4

Question Number : 38 Question Id : 87827045413 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A



Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which of the following are the capitalist model of development?
{A). The agrarnan capitalist model

(B). Mercantile capitalist model

(C). The Industnial capitalist model

(D). The post globalization neoliberal model

(E). Social democratic mixed economy model of development

Choose the correct answer from the options given below:

1. (A), (B), (D), (E).
2. (B), (C), (D), (E)
3. (A), (B), (C), (D)
4. (A), (C), (D), (E)

Options :

878270178489. 1
878270178490. 2
878270178491. 3

878270178492. 4

Question Number : 38 Question Id : 87827045413 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



L
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2. (B), (C), (D),
3. (A), (B), (C
4. (A), (C), (D

Options :

878270178489. 1
878270178490. 2
878270178491. 3

878270178492. 4

Question Number : 39 Question Id : 87827045414 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Which of the following statements correctly represents actions undertaken by the Government towards liberalisation?
(A). Levying high tariffs to discourage import and encouraging the consumption of domestic goods and services.

(B). Devaluation of the rupees to promote inflow of foreign exchange

(C). Allowing the private banks to take decisions independent of the RBI restrictions

(D). Fixing process of certain industrial goods inorder to support increased consumption of these goods to boost the
manufacturing indusiry

Choose the correct answer from the options given below:

(A) and (B) only
(A) and (C) only.
(B) and (C) only
(B) and (D) only

1
2
3
4
Options :

878270178493. 1
878270178494. 2
878270178495. 3

878270178496. 4

Question Number : 39 Question Id : 87827045414 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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1. %90 (A) 3R (B)
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3 %dd (B) 3R (C)
4 %qd (B) 3R D)
Options :
878270178493 1
878270178494, 2
878270178495 3

878270178496. 4

Question Number : 40 Question Id : 87827045415 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Which one of the following is not an important trade and investment Policy Reforms?
(A). Removal of quantitative restrictions on imports and exports

(B). Removal of Export duties

(C). Reduction in Import duties

(D). Relaxation in import licensing system

(E). Devaluation of Rupee

Choose the correct answer from the options given below:

1. Aonly.
2. B only.
3. C and D only.
4. E only.

Options :

878270178497. 1
878270178498. 2
878270178499. 3
878270178500. 4

Question Number : 40 Question Id : 87827045415 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

878270178497. 1
878270178498. 2
878270178499. 3

878270178500. 4

Question Number : 41 Question Id : 87827045416 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Which of the following represent the part of the Group of Eight (G-8) countries?
(A). India

(B). Canada

(C). Japan

(D). Germany

(E). USA

Choose the correct answer from the options given below:

Options :

878270178501. 1
878270178502. 2
878270178503. 3

878270178504. 4

Question Number : 41 Question Id : 87827045416 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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1. (A), (B), (C), (D)

2. (B), (C), (D), (E)

3. (C), (D), (E), (A)

4 (D), (E), (A), (B)
Options :

878270178501. 1
878270178502. 2
878270178503. 3

878270178504. 4

Question Number : 42 Question Id : 87827045417 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Sigmund Freud had proposed a five-stage of personality development, arrange the following in proper order.
(A). Oral stage

(B). Phallic

(C). Genital

(D). Anal

(E). Latency

Choose the correct answer from the options given below:

1.(A), (B), (C), (D), (E)
2.(E), D), (C), (B).(A)

3.(C), (B), (D), (A).(E)
4 (A), (D), (B), (E),(C)

Options :

878270178505. 1
878270178506. 2
878270178507. 3

878270178508. 4

Question Number : 42 Question Id : 87827045417 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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1.(A), (B), (C), (D), (E)

2.(E), (D), (C), (B),(A)

3.(C), (B), (D), (AL(E)

4.(A), (), (B), (E).C)
Options :

878270178505. 1
878270178506. 2
878270178507. 3

878270178508. 4

Question Number : 43 Question Id : 87827045418 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Most commonly used techniques for assessing personality are.........
(A). Behavioral analysis

(B). Projective Technigues

(C). Self report measures

(D). Psychometric test

(E). Creative visualization technique

Choose the correct answer from the options given below:

1.(B), (C), (D), (E)
2. (A), (B), (C), (E).
3. (E), (D), (C), (B)
4 (D), (C), (B), (A).

|
Options :
878270178509. 1
878270178510. 2

878270178511. 3

878270178512. 4

Question Number : 43 Question Id : 87827045418 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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1. (B), (C), (D), (E)
2. (A), (B), (C), (E).
3. (E), (D), (C), (B)
4 (D), (C), (B), (A).

Options :

878270178509. 1
878270178510. 2
878270178511. 3

878270178512. 4

Question Number : 44 Question Id : 87827045419 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Which of the following are defense mechanisms?
(A). Projection

(B). Denial

(C). Reaction formation

(D). Rationalisation

(E). Libido

Choose the correct answer from the options given below:

(E), (D), (C), (B)
{Dr (C), (B), |E]
3. (A), (B), (C), (D
4 (C), (D), (E), [A].
Options :

878270178513. 1
878270178514. 2
878270178515. 3

878270178516. 4

Question Number : 44 Question Id : 87827045419 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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E), (D), (C), (B)
C), (B),
B). (
D),

)

E),
(D),
(A,
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B T

Options :

878270178513. 1
878270178514. 2
878270178515. 3

878270178516. 4

Question Number : 45 Question Id : 87827045420 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Which of the following constitutional articles safeguard the political rights of Scheduled Tribes?
(A). Article 330

(B). Article 243

(C). Article 350

(D). Article 332

(E) Article 361

Choose the correct answer from the options given below:

1 {At (B), (C) only.

B), (C), (D) only.
3 {C; (D),(E) only
4 (A), (B), (D) only

Options :

878270178517. 1
878270178518. 2
878270178519. 3

878270178520. 4

Question Number : 45 Question Id : 87827045420 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

878270178517. 1
878270178518. 2
878270178519. 3

878270178520. 4

Question Number : 46 Question Id : 87827045421 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Match List-l with List-ll

List-l List-lI
(A). Simon commission {1). 1942
(B). Cripps Mission (). 1935
(C). Cabinet Mission (111). 1927
(D). Government of India Act|(IV). 1946

Choose the correct answer from the options given below:

1. (A) - (), (B) - (IV), (C) - (1ll), (D) - (I}

2. (A) - (IV), (B) - (I11), (C) - (1), (D) - (11}

3. (A) - (1), (B) - {I] C) - (IV), (D) - (11)

4. (A) - (N, (B) - (1), (C) - (IV), (D) - (1)
Options :

878270178521. 1
878270178522. 2
878270178523. 3

878270178524. 4

Question Number : 46 Question Id : 87827045421 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



A1 & Ty G-I BT A B

-l -1l
(A) FT5HA FHIEH (1) 1942
(B) fored =M (1) 1935
(C) Hiae fmm (1) 1927
(D) HRT TR Hfafaa (IV) 1946
T RT T e & @ 98 SR )

1.(A) - (1), (B) - (IV), (C) - (llI), (D) - (1)
2. (A) - (IV), (B) - (111}, (C) - (1}, (D) - (1)
3. (A) - (1), (B) - (1), (C) - (IV), (D) - (1)
4. (A) - (), (B) - (1), (C) - (IV), (D) - (1)

Options:

878270178521. 1
878270178522. 2
878270178523. 3

878270178524. 4

Question Number : 47 Question Id : 87827045422 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Match List-l with List-ll

List-| List-ll

(A). Directive Principle of State Policy [(1). USA

(B). Federal system (11). Soviet Union
(C). Fundamental Rights (111). Ireland
(D). Fundamental Duties (IV). Canada

Choose the correct answer from the options given below:

1. (A) - (1), (B) - (), (C) - (111}, (D) - (IV})

2. (A) - (1), (B) - (1), (C} - (IV), (D) - (1)

3. (A) - (I, (B) - (IV), (C) - (1), (D) - (I1)

4. (A) - (I, (B) - (IV), (C) - (lln), (D) - (1)
Options :

878270178525. 1
878270178526. 2
878270178527. 3

878270178528. 4

Question Number : 47 Question Id : 87827045422 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



l-| & Y G-l BT A BR-

-l -1l

(A) 1T g &1 e Rgia|(1) Ieay

(B) ST Humei (1) Sifgaq |9
(C) Attt e (Ill) 3RS
(D) AiftTe B (IV) TSI

- feu e famedl § 9§ 981 3ok o |

1. (A) - (IN), (B) - (1), (C) - (I11), (D) - (IV)
2. (A) - (), (B) - (1), (C) - (IV), (D) - (I1)
3. (A) - (), (B) - (IV), (C) - (1}, (D) - (1)
4 (A) - (I}, (B) - (IV), (C) - (1), (D) - (1)

Options:

878270178525. 1
878270178526. 2
878270178527.3

878270178528. 4

Question Number : 48 Question Id : 87827045423 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Match List-l with List-ll

List-l

List-ll

(A). Rabindranath Tagore

{1). Sabarmati Ashram

(B). Mahatama Gandhi

(I1). Arya Samaj

(C). Dayanand Saraswati

(lI1). Shanti Niketan

(D). Jyotirao Govindrao Phule

(IV). Satyashodhak Samaj

Choose the correct answer from the options given below:

1. (A) - (1), (B) - (1), (C) - (IV), (D) - (N1}

2. (A) - (1), (B) - (1), (C) - (1), (D) - (IV)

3. (A) - (I, (B) - (1), (C) - (I, (D) - (IV)

4. (A) - (IV), (B) - (I11), (C) - (1), (D) - (I1)
Options :

878270178529. 1
878270178530. 2
878270178531. 3
878270178532. 4

Question Number : 48 Question Id : 87827045423 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



l-| & Y G-l BT A BR-

-{‘ﬁ['l ﬁ_”
(A) XTGAR SR (1) STEdl 3155
(B) FETH it {||:,3.[EEW

(C) eae TEad! (1) =it Frea=
(D) SEIfRrd TifdeRa Hoi|(1V) TS FH
i 6T 7T fadedl H § 981 SR I |

1.(A) - (IN), (B) - (1), (C) - (IV), (D) - (IlI)
2. (A) - (N, (B) - (1), (C) - (1), (D) - (IV)
3. (A) - (), (B) - (1), (C) - (1), (D) - (IV)
4. (A) - (IV), (B) - (11}, (C) - (1}, (D) - (1)

Options:

878270178529. 1
878270178530. 2
878270178531. 3

878270178532. 4

Question Number : 49 Question Id : 87827045424 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Match List-l with List-ll

List-l

List-ll

(A). Talcott Parsons

(). Class conflict

(B). Karl Marx

(I). Cultural lag

(C). C. H Cooley

(lll). Social change

(D). Ogburn

(V). Pnmary and Secondary groups

Choose the correct answer from the options given below:

1. (A) - (1), (B) - (1lI), (C) - (1), (D) - (IV}

2. (A) - (I, (B) - (1), (C} - (IV), (D) - (1)

3. (A) - (IV), (B) - (I1), (C) - (1), (D) - (111}

4. (A) - (1), (B) - (1), (C) - (IV), (D) - (1)
Options :

878270178533. 1
878270178534. 2
878270178535. 3

878270178536. 4

Question Number : 49 Question Id : 87827045424 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



AL & H1Y G-Il BT e B

- -1

(A) TTie UrEg|(1) aF TuE

(B)HId AIEE (1) SiEhias S

()bt = gt () Srafe oftadH

(D) 3TEH (V) TufErs ST Arefis aqg
-d feu TTe fadedl  © 98! 3R |

1.(A) - (1), (B) - (llI), (C) - (1), (D) - (IV)
2. (A) - (I, (B) - (1), (C) - (IV), (D) - (I1)
3. (A) - (IV), (B) - (1), (C) - (1), (D) - (Il1)
4 (A)- (I}, (B) - (1), (C) - (IV), (D) - (Il1)

Options:

878270178533. 1
878270178534. 2
878270178535. 3
878270178536. 4

Question Number : 50 Question Id : 87827045425 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Match List-l with List-ll

List-| List-ll

Trade Union Year of Establishment
(A). All India Trade Union Congress (AITUC) (1. 1948

(B). Indian National Trade Union Cogress (INTUC)|(Il). 1949

(C). Hind Mazdoor Sabha (111). 1920

(D). United Trade Union Congress (V). 1947

Choose the correct answer from the options given below:

1. (A) - (1), (B) - (IV), (C) - (1), (D) - (11}

2. (A) - (I, (B) - (1), (C) - (IV), (D) - (1)

3. (A) - (IV), (B) - (I11), (C) - (In), (D) - (1)

4. (A) - (1), (B) - (I1), (C) - (M), (D) - (IV)
Options :

878270178537. 1
878270178538. 2
878270178539. 3
878270178540. 4

Question Number : 50 Question Id : 87827045425 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



A1 & Ty G-I BT A B

it -

¢S gf-ae TYTYT T a4
(A) 3iTa ST Ts gfm wiUg marsdaEh [(1) 1948 5.
(B) SET7 F=FT €5 TfFaT S1Ug (Ssu=ergEn)|(1) 1949 H

(C) e Hoigy T (111) 1920 §
(D) TITSCS <5 TP HiUE (IV) 1947 &
i feT 7T fadedl H 9 981 SR I |

1..(A) - (1), (B) - (IV), (C) - (1), (D) - (1)

2. (A) - (1), (B) - (l1), (C) - (IV), (D) - (1)
3. (A) - (IV), (B) - (1), (C) - (1), (D) - (1)
4. (A) - (), (B) - (1), (C) - (1), (D) - (IV)

Options:

878270178537. 1
878270178538. 2
878270178539. 3

878270178540. 4

Question Number : 51 Question Id : 87827045426 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Match List-l with List-ll

List-I List-ll

(A). First session of international labour conference (1.L.C) [(I). 1926

(B). Trade Union Act (I1y. 29 Oct- 29 Nov 1919
(C). Child Labour Prohibition and Regulation Act (1. 1986
(D). First factories act passed in India (IV). 1881

Choose the correct answer from the options given below:

1. (A) - (1), (B) - (IV), (C) - (li), (D) - (1)

2. (A)- (1), (B) - (In), (C) - (1), (D) - (IV})

3. (A)- (I, (B) - (1), (C) - (IV), (D) - (1)

4. (A)- (I}, (B) - (1), (C) - (I}, (D) - IV}
Options :

878270178541. 1
878270178542. 2
878270178543. 3

878270178544. 4

Question Number : 51 Question Id : 87827045426 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Ti-1 & Y il BT HaH B

-l -l

(A) SHTRIVTT 91 FHT %1 UsTl 94 (HREeEn  |(1) 1926

(B) <& T fafan (II) 29 FCER-29 TdaY 1919
(C) =T %7 [y 3k g sifatFas (1) 1986

(D) ¥T H Ugal SaEF SHidae i fear | v) 1881

-d fu TTe fadedl  © 981 3w g

1..(A) - (1), (B) - (IV), (C) - (IllI), (D) - (1)
2. (A) - (), (B) - (1), (C) - (1), (D) - (IV)
3. (A) - (1), (B) - (1), (C) - (IV), (D) - (1)
4. (A) - (1), (B) - (1), (C) - (1), (D) - (IV)

Options:

878270178541. 1
878270178542. 2
878270178543. 3

878270178544. 4

Question Number : 52 Question Id : 87827045427 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Match List-l with List-lI

List-I

List-II

Book

Authors

(A). The Communist Manifesto

(1). Dr. B.R Ambedkar

(B). The Problem of the Rupee: Its origin and its solution

(I1). Karl Marx

(C). Gokhale - My Political Guru

(). Amartya Sen

(D). Development as freedom

(IV). MK Gandhi

Choose the correct answer from the options given below:

1. (A) - (1), (B) - (II), (C) - (1, (D) - (IV)

2. (A)-(IV), (B) - (IllI), (C) - (1), (D) - (1)

3. (A)- (1), (B) - (1), (C) - (IV), (D) - {III]

4. (A) - (1), (B) - (IV), (C) - (1), (D) - (11}
Options :

878270178545. 1
878270178546. 2
878270178547. 3

878270178548. 4

Question Number : 52 Question Id : 87827045427 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Ti-1 & Y il BT HaH B

-l -l

(A) FRIFE 9HUTS (1) ST 8. 3. 3EeH
(B) T &1 THE: SHB! Sea A THTEE|(II) BT A

(C) TET-HR T IT® 16 e

(D) To=al & ¥4 & fg@s (IV) TH. & it

S R e E R ]

1. (A) - (1), (B) - (1), (C) - (1), (D) - (IV})

2. (A) - (IV), (B) - (I1), (C) - (1), (D) - (1)

3. (A) - (1), (B) - (1), (C) - (IV), (D) - (li1)

4. (A) - (1IN, (B) - (IV), (C) - (1), (D) - (I1)

Options:

878270178545. 1
878270178546. 2
878270178547.3

878270178548. 4

Question Number : 53 Question Id : 87827045428 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Match List-l with List-ll

List-l List-ll

Act Year
(A). The Employees Provident Fund and Miscellaneous Provision Act|(l). 1948

(B). The Employees State Insurance Act (11). 1952
(C). The Contract Labour (Regulation and Abolition) Act (1. 1979
(D). The Inter State Migrant Workmen Act (IV). 1970

Choose the correct answer from the options given below:

1. (A) - (1), (B) - (1), (C) - (IV), (D) - (lI1)
2. (A)- (1), (B) - (I), (C) - (1), (D) - (IV)
3. (A) - (I1), (B) - (IV), (C) - (1), (D) - (1)
4. (A) - (I1), (B) - (1), (C) - (1), (D) - (IV)

Options :

878270178549. 1
878270178550. 2
878270178551. 3
878270178552. 4

Question Number : 53 Question Id : 87827045428 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Ti-1 & Y il BT HaH B

-l -l
T Y

(A) FHERT Yfds B R fafas g sfSfam|o) 1948
(B) HHTAR! Tr=g FTAT faaH (1) 1952
(c) Hfder s9 (fafFaem ok g=gem) «fafFmm o) 1979
(D) Haredid WarH! SR e, (IV) 1970
R e ER R =]

1.(A) - (11}, (B) - (), (C) - (IV), (D) - (11)

2 (A)-(1), (B) - (1), (C) - (1), (D) - (IV)

3. (A) - (II), (B) - (IV). (C) - (1), (D) - (Ill)

4 (A) - (1), (B) - (1), (C) - (1), (D) - (IV)

Options:

878270178549. 1
878270178550. 2
878270178551. 3

878270178552. 4

Question Number : 54 Question Id : 87827045429 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Match List-l with List-ll

List-I List-l
(A) Maternity Benefits Act (1). 1923
(B). Workman's Compensation Act (11). 1961

(C). The Employees Provident Fund and Miscellaneous Provision Amendment Acti(l11). 2008

(D). Unorganised Workers and Social Security Act (V). 1996

Choose the correct answer from the options given below:

1.(A)-(Il), (B) - (1), (C) - (IV), (D) - (11

2. (A)-(lin), (B) - (1), (C) - (In), (D) - (IV})

3. (A)- (I, (B) - (IV), (C) - (1), (D) - (1)

4. (A)-(IV), (B) - (1), (C)- (1), (D - (I1)
Options :

878270178553. 1
878270178554. 2
878270178555. 3

878270178556. 4

Question Number : 54 Question Id : 87827045429 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Ti-1 & Y il BT HaH B

- GELal
(A) AT Ty STy (1) 1923
(B) BN Faa Hfafaa (1) 1961
(C) FHART yigw FiY o fafdy urays Semee sfafmm|on 2008
(D) SFETST 4 iR amfas e Hfafag (V) 1996
-d fu TTe fadedl 9 981 3w g

1.(A) - (IN), (B) - (1), (C) - (IV), (D) - (IlI)
2. (A) - (), (B) - (1), (C)-(I1), (D) - (IV)
3. (A) - (11}, (B) - (IV), (C) - (1), (D) - (Il1)
4. (A) - (IV), (B) - (1), (C) - (11}, (D) - (1)

Options:

878270178553. 1
878270178554. 2
878270178555. 3
878270178556. 4

Question Number : 55 Question Id : 87827045430 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Match List-l with List-ll

List-| List-l

(A). Labour in Contemporary India (). Lakshmidhar Mishra

(B). Child Labour in India (II). Neera Burra

(C). Born to work: Child Labour in India |(lll). Praveen Jha

(D). The Grapes of wrath (IV). John Steinbeck

Choose the correct answer from the options given below:

1. (A) - (1), (B) - (1), (C) - (IN), (D) - (IV}

2. (A) - (1), (B) - (I1), (C) - (Im), (D) - (IV)

3. (A) - (I, (B) - (1), (C) - (Im), (D) - (IV)

4. (A) - (1), (B) - (11}, (C) - (11}, (D) - (IV)
Options :

878270178557. 1
878270178558. 2
878270178559. 3

878270178560. 4

Question Number : 55 Question Id : 87827045430 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



A1 & Ty G-I BT A B

it i1l

(A) TEY 59 S cHTl Siea (1) TT&HTeR e
(B) T15CS T8 54 51541 (1 =i =i

(C) 819 T gb: dTes TfeR 59 Sfed (1) g =
(D) & ¥ 315 AT (IV) T Ee®
1. (A) - (1), (B) - (1), (C) - (1), (D) - (IV)

2. (A)- (1), (B) - (1), (C) - (11}, (D) - (IV)

3. (A) - (11}, (B) - (1), (C) - (Il1), (D) - (IV)

4. (A)- (1), (B) - (I), (C) - (1), (D) - (IV)

Options:

878270178557. 1
878270178558. 2
878270178559. 3

878270178560. 4

Question Number : 56 Question Id : 87827045431 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Match List-l with List-ll

List-l List-l
(A). National Sample Survey Organisation (). 2019
(B). Periodic Labour Force Survey (11). 2017
(C). Time Use Survey (111). 2022
(D). Household consumption and Expenditure Survey|(IV). 1950

Choose the correct answer from the options given below:

1. (A)-( (11, (C) - (1), (D) - (Il
2. (A)-(IV), (B) - (1), (C) - (), (D) - (IN
3. (A) - (IV), (B) - (IN), (C) - (1), (D) - (I
4. (A) - (1), (B) - (IN), (C) - (1IN, (D) - (IV

V), (B) -

i gt g g

Options :

878270178561. 1
878270178562. 2
878270178563. 3

878270178564. 4

Question Number : 56 Question Id : 87827045431 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



l-| & Y G-l BT A BR-

-l LAl
(A) TP THAT FEHUTETEA  |(1) 2019
(B) Al o= Se |@d&0  |(11) 2017
(C) T¥T S9aNT Fa&u (Ill) 2022
(D) TR FUHIT iR o0 Fd&m|(1v) 1950
-d fu TTe fadedl  © 981 3R g

1.(A) - (IV), (B) - (Il), (C) - (1), (D) - (IlI)
2. (A) - (IV), (B) - (1), (C) - (I), (D) - (111}
3. (A) - (IV), (B) - (1), (C) - (1), (D) - (I)
4. (A) - (1), (B) - (I1), (C) - (1), (D) - (IV)

Options:

878270178561. 1
878270178562. 2
878270178563. 3
878270178564. 4

Question Number : 57 Question Id : 87827045432 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Match List-l with List-ll

List-I List-Il

(A). National Heritage City Development and Augmentation Yojana (HRIDAY)|(1). 2016

(B). Pradhan Mantri Awas Yojana Gramin (I). 2015
(C). Swach Bharat Mission (Urban) (111). 2024
(D). Pradhan Mantri Suryodaya Yojana (IV). 2014

Choose the correct answer from the options given below:

- (A)- (I, (B) - (I1), (C) - (1), (D) - (IV)
(B)- (1), (C)- (IV), (D) - (11}
. (B)- lll) ) (1), (D) - (V)

1), 1)

Options :

878270178565. 1
878270178566. 2
878270178567. 3
878270178568. 4

Question Number : 57 Question Id : 87827045432 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



A1 & Ty G-I BT A B

it Geial
(A) T R e} A SR Hae= O (ge) (1) 2016
(B) WTHIT HTarT Do 9rE (1) 2015
(C) T HRG [HEF (T8 (1) 2024
(D) WUTFHAT Faieg drem (V) 2014
-d fgu TTe fadedl 9 981 3 g

1..(A) - (1), (B) - (1), (C) - (1), (D) - (IV)
2. (A) - (1), (B) - (1), (C) - (IV), (D) - (11}
3. (A) - (1), (B) - (1), (C) - (1), (D} - (IV)
4. (A) - (IV), (B) - (1), (C) - (111}, (D) - (11}

Options:

878270178565. 1
878270178566. 2
878270178567. 3
878270178568. 4

Question Number : 58 Question Id : 87827045433 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Match List-l with List-ll

List- List-ll

(A). NABARD (I). Finance to large & medium scale Industrial units
(B). Indian Oil Corporation limited (I1). Provide rural credit

(C). IDBI (Il). Nawaratna Company

(D). Power Grid Corporation of India limited|(IV). Maharatna Company

Choose the correct answer from the options given below:

III) B) - (I}, (C) - (IV), (D) - (I
I

Options :

878270178569. 1
878270178570. 2
878270178571. 3
878270178572. 4

Question Number : 58 Question Id : 87827045433 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Ti-1 & Y il BT HaH B

- -l

(A) TTETS (1) S2t IR AuH AGS 5Tl H oa
(B) Sf&TA 3ffge wiaheF fffes (11) AHI0T 501 FUTT BT

(C) HTSSIET3Tg (111) FoRe R

(D) UTeR 98 HIUREA % 78] fiHcs|(Iv) AeRd Sl

T fag e faoed & § 91 IR o

1..(A) - (1), (B) - (1), (C) - (IV), (D) - (I)
2. (A) - (1), (B) - (IV), (C) - (11T}, (D) - (11}
3. (A) - (1), (B) - (IV), (C) - (1), (D) - (111}
4. (A) - (lln), (B) - (In), (C) - (1), (D) - (IV)

Options:

878270178569. 1
878270178570. 2
878270178571. 3

878270178572. 4

Question Number : 59 Question Id : 87827045434 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Match List-l with List-ll

List-| List-ll

(A). Ministry of Agriculture & Farmers Welfare (I). Consumer Cooperatives

(B). Ministry of Consumer Affairs Food & Public Distribution|(l1). Promote industrial development

(C). Ministry of Chemical & Fertilizers (I11). Prddhan Mantri Bharatiya Janaushadhi Pariyojana

(D). Ministry of Commerce & Industry (IV). Rashtriya Krishi Vikas Yojana

Choose the correct answer from the options given below:

1. (A)-(IV), (B)- (1), €C) - (I, (D)~ (If

2. (A)- (1), (B) - (IV), (C) - (), (D) - (I

3. (A)- (I, (B)- (1), (C)- I, (D)- (IV)

4.(A)-(1), (B)- (1), (C)- (I, (D)- (IV)
Options :

878270178573. 1
878270178574. 2
878270178575. 3

878270178576. 4

Question Number : 59 Question Id : 87827045434 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



-1 & 1Y Il & FHaH S

-

Gigial

(A) B 3R fram S garem

(1) S9Hia TeeR! Sftfal

(B) SUHIET HTHT, T X G- [Gaor J37erd|(1l) S9r & Sgal &1

(C) T 3R ga® Ha0g

(1) W FEt YReTg S afae

(D) T SR F Haed

(V) TETa B fawTg grern

TIRUTE Ao 8 9 S SR IF

1 (A) -
2 (A)-

4 (A)-

Options :

878270178573. 1
878270178574. 2
878270178575. 3

878270178576. 4

Question Number : 60 Question Id : 87827045435 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

(IV), (B) - (1), (C) - (), (D) - (
(1lT), (B) - (IV), (C) - (1), (D) -
3. (A) - (1), (BY - (1), (C) - (1), (D) - (IV)
(1), (B) - (1), (C) - (Im), (D) - (IV)




Match List-l with List-ll

List-| List-ll

(A). Green Revolution|(l). Sam Pitroda

(B). White Revolution |(I1). Arun krishanan

(C). Yellow Revolution [(11}). Verghese Kurien

(D). Blue Revolution |(IV). M.S. Swaminathan

Choose the correct answer from the options given below:

1. (A) - (IV), (B) - (Il), (C) - (1), (D) - (11}

2. (A) - (1), (B) - (1), (C) - (111}, (D) - (IV)

3. (A) - (IV), (B) - (1), (C) - (1), (D) - (1)

4. (A) - (1), (B) - (1), (C) - (IV), (D) - (11}
Options :

878270178577. 1
878270178578. 2
878270178579. 3
878270178580. 4

Question Number : 60 Question Id : 87827045435 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



l-| & Y G-l BT A BR-

- -
(&) sfa wifa|) 1 faae

(B) %l SBifd |(II) U SO
(C) da wmifa ). Fie Fha=

(D) et wifd|(1v) TH. T8, TR
Tdl feu e fas el H € 98] SR g

1.(A) - (IV), (B) - (Il), (C) - (1), (D) - (1)
2. (A) - (1), (B) - (1), (C) - (1M, (D} - (IV)
3. (A) - (IV), (B) - (1), (C) - (1), (D) - (111}
4. (A) - (), (B) - (1), (C) - (IV), (D) - (1)

Options:

878270178577. 1
878270178578. 2
878270178579. 3

878270178580. 4

Question Number : 61 Question Id : 87827045436 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Match List-l with List-ll

List-l List-ll

(A). NITI Aayog (1. 2017
(B). TRIFED (11). 1935
(C). Reserve Bank of India (RBI) (111). 2015
(D). Goods & service Tax (GST) Council |(IV). 1987

Choose the correct answer from the options given below:

1. (A) -

(1), (B) - (IN), (C) - (IV), (D) - (liT}
2. (A)-(l

(

(

1), (B) - (1), (C) - (IV), (D) - (llT}
1), (B) - (1), (C) - (1), (D) - (IV)
1T}, (B) - (IV), (C) - (1), (D) - (I}

3. (A) -
4. (A) -

Options :

878270178581. 1
878270178582. 2
878270178583. 3

878270178584. 4

Question Number : 61 Question Id : 87827045436 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



l-| & Y G-l BT A BR-

-l LIAl
(A) e SmamT (1) 2017
(B) TIHHS (1) 1935
(C) ¥Reg fiord 9% (RBI) (1) 2015
(D) %] U9 §a1 & (Sruge) TiEg|(1v) 1987
- feu e famedl § 9§ 981 o) I+

1. (A) - (), (B) - (IN), (C) - (IV), (D) - (i)
2. (A) - (1), (B) - (1), (C) - (IV), (D) - (111)
3. (A) - (), (B) - (1), (C) - (1), (D) - (IV)
4. (A) - (lln), (B) - (IV), (C) - (1), (D) - (1)

Options:

878270178581. 1
878270178582. 2
878270178583. 3
878270178584. 4

Question Number : 62 Question Id : 87827045437 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Match List-l with List-ll

List-| List-ll

(A). Sigmund Freud|(l). Disturbed interpersonal relationship

(B). Carl Jung (11). Individual Psychology

(C). Karen Horney |[(lIl). Analytical Psychology

(D). Alfred Adler (V). Psychoanalysis

Choose the correct answer from the options given below:

1. (A) - (1), (B) - (II), (C) - (1l1), (D} - (IV)

2. (A) - (IV), (B) - (1), (C) - (1), (D) - (I1)

3. (A) - (I, (B) - (1), (C) - (Im), (D) - (IV)

4. (A) - (1), (B) - (IV), (C) - (1), (D) - (1)
Options :

878270178585. 1
878270178586. 2
878270178587. 3

878270178588. 4

Question Number : 62 Question Id : 87827045437 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



l-| & Y G-l BT A BR-
-l -1l

(A) Rrms wrrs|(1) seoafeud IgiN® ey
(B)FIA T |(Il) SfFrTd FATaT=
C)PEEA | e T
(D) BT TSTR|(IV) AT

-d feu e fad el 9 U8l 3 g

1.(A)- (1), (B) - (I, (C
2 (A) - (IV), (B) - (Ill)

3. (A) - (1), (B) - (1), (C
4 (A) - (lll), (B) - (IV)

E—

_ (I, (D) - (V)
C) - (1), (D) - (1)
_ (I, (D) - (V)
C) - (1), (D) - (1)

e T

Options:

878270178585. 1
878270178586. 2
878270178587. 3

878270178588. 4

Question Number : 63 Question Id : 87827045438 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



The main features of globalisation are —

(A). Integration of markets around the world

(B). Tolerance for one another among nation states

(C). Getting connected to the global economy

(D). Mediation by United Nations to settle disputes between nations

(E). Increase in movement of commodities, money, information and people.
Choose the correct answer from the options given below:

1. A, B, Conly.
2.B, C, D only.
3. A, C, Eonly.
4. C, D, Eonly.

Options :

878270178589. 1
878270178590. 2
878270178591. 3

878270178592. 4

Question Number : 63 Question Id : 87827045438 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



TR0 BT T fa=wane § -

(A) BT 4R & STSIR] BT THIHT]
(B) X191 & &9 Ueh g o 7T Higwal

(C) 3w dfomawl 9 91

(D) TP & & faare! i FueH & g 9gdd Y gR1 Heowyd

(E) g, ¢, Ta1 3R AT &1 HTaTe! § gl |

=t feu U fadedl & ¥ 981 SR |

1. ®adA B, C
2 ®4dB.C. D
3. ®ddA CE
4 ®dAC, D, E

Options :

878270178589. 1
878270178590. 2
878270178591. 3

878270178592. 4

Question Number : 64 Question Id : 87827045439 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Social stratification is based on the principles of —

(A). Social equality

(B). Social inequality

(C). Social justice

(D). Social injustice

(E). Social Hierarchy

Choose the correct answer from the options given below

1. A, C, D only.
2. A C, Eonly.
3. B, C, D only.
4 B, D, E only.

Options :

878270178593. 1
878270178594. 2
878270178595. 3

878270178596. 4

Question Number : 64 Question Id : 87827045439 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



e WRIH0 34 fgidl W uid B -

(A) TMHETSIE THE

(B) THHINIE ST

(C) TS I

(D) OIS 314

(E) THITT® UaTIHH

Td feu T fgwedi § 9 98 S| |

1. »adA. C, D
2 ®add A C E
3. ®4dB,C D
4 ®ddB, D E

Options :

878270178593. 1
878270178594. 2
878270178595. 3

878270178596. 4

Question Number : 65 Question Id : 87827045440 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Which of the following statement are correct?

(A). Death rates has Declined due to advancement in public health and better nutrition

(B). Poverty and starvation are caused by population growth rather than unequal distribution of resources.
(C). Population growth rates are high because both the death rate and the birth rate are high

(D). Unjust social order allow privileged minority to live in luxury while majority are forced to live in poverty
(E). Population growth rates are high as birth rates have declined and epidemic disease are being controlled

Choose the correct answer from the options given below:

Options :

878270178597. 1
878270178598. 2
878270178599. 3
878270178600. 4

Question Number : 65 Question Id : 87827045440 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



ol # 8 21 9 B 1 2

(A) T TR R S5 U0 BTl o6 RV g &R 7 FRe o §

(B) TR 3R 4[] T & R R & o ST 91 & BRU N 3
(C) T 9 & i § D TG AR O G G 9 ol

(D) et s o R T R i el R 1 S G ¢ i ) i Tt
T B TR §

(F) T 9 R ot & il o ok A ol oS & R g S ot e o w1 T 2

i o e f e wow Tl

Options :

878270178597. 1
878270178598. 2
878270178599. 3

878270178600. 4

Question Number : 66 Question Id : 87827045441 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



The Child Protection Acts in India-

{A). The Immoral Traffic (Prevention) Act, 1987

(B). Child Labour (Prohibition and Regulation ) Act, 1986
(C). Protection of Children from Sexual Offences Act, 2012
(D). The Hindu Marriage Act, 1955

(E). Prohibition of Child Marriage Act, 2006

Choose the correct answer from the options given below:

1. A, B, C and E only.
2.B,C, D and E only.
3.C, D, EandAonly.
4 A BDand E only

Options :

878270178601. 1
878270178602. 2
878270178603. 3

878270178604. 4

Question Number : 66 Question Id : 87827045441 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



HRd | 1 O a9 -

(A) 3Hfa® SR (Far) fafaga. 1987

(B) &1a | (Fuy 3R fafagam) sifaf=aa 1936

(C) T =4l T =gt &1 e fafgd. 2012

(D) feg faare sfaf4mm, 195

(E) 11 faars Y sifaf=ga 2006

n

=t feu U fadedl & ¥ 981 SR |
1. ®ddA B C3R E
2. HddAB. C. D 3IRE
3. ®@AAC, D, E 3R A
4 HAAA B D IHRE

Options :

878270178601. 1
878270178602. 2
878270178603. 3

878270178604. 4

Question Number : 67 Question Id : 87827045442 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Social Stratification refers to

{A). People in a society are hierarichally ranked

(B). Unequal distribution of resources

(C). Natural difference between people

(D). Social position of a person is ascribed

(E). Free movement of people and goods

Choose the correct answer from the options given below:

1. (A), (B) and (D) only.
2.(B), (C) and (E) only.
3. (C), (D), and (E) only
4. (A), (C)and (E) only.

Options :

878270178605. 1
878270178606. 2
878270178607. 3

878270178608. 4

Question Number : 67 Question Id : 87827045442 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



grHTTo® 0 BT HcH &

(A) THS H TR &1 UG ad ©0 4 ¥yH fGar a8

(B) TH1eAT BT 3/ EAM faazu

(C) Il & &g WP SR

(D) oot cafag & gmfore fufg FufRa ol ot 8
(E) RTF R a¥gafl &1 Had SATaraile!

=t feu U fadedl & ¥ 981 SR |

1.@ad (A), (B) 3R (D)
2 @dd (B), (C) 3R (E)
3. ®4dd (C), (D), AR (E)
4. @ad (A), (C) 3R (E)

Options :

878270178605. 1
878270178606. 2
878270178607. 3

878270178608. 4

Question Number : 68 Question Id : 87827045443 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



The characteristics of caste system are —

(A). Practice of exogamy

(B). Practice of Endogamy

(C). Social exclusion

(D). Principle of purity and pollution

(E). Social inclusion

Choose the correct answer from the options given below:

1. A, C, D only.
2.B, C, D only.
3.A D, Eonly
4 B, D, E only.

Options :

878270178609. 1
878270178610. 2
878270178611. 3

878270178612. 4

Question Number : 68 Question Id : 87827045443 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



SATfe ogaey o faeand & -
(A) dfeldd B M HEH

(B) 3idfdars &1 3nary

(C) OIS SR

(D) ST AR Uguu &1 FSid

(E) TrETfoid THGRMH

o feu U fawedl ° T 981 TR I

1. »adA. C, D
2 ®ddB,C D
3. ®ddA D E
4 ®HddB, D E

Options :

878270178609. 1
878270178610. 2
878270178611. 3

878270178612. 4

Question Number : 69 Question Id : 87827045444 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Which of the following are the fundamental duties of every citizen of India —
{A). To protect and improve the natural environment

(B). To safeguard public property

(C). To value the sovereignty of neighbouring nations

(D). To develop the scientific temper and spirit of inquiry

(E). To provide opportunities for education to their child or ward.

Choose the correct answer from the options given below:

1. A B, D, Eonly
2.A C,D, Eonly.
3.B,C, D, Eonly
4 A B, C,Donly.

Options :

878270178613. 1
878270178614. 2
878270178615. 3

878270178616. 4

Question Number : 69 Question Id : 87827045444 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



fFafafad 9 &9 ¥ YRd & Y@ TF® & Hifad dad & -

(A) TiPTd® TaiaRT &1 &7 AR UR &1

(B) TTdui-ic HURI B &1 BT

(C) TSI <2 &1 TUHAT Bl 75 a1

(D) dA® PHI 3R S &1 Uia &1 &g &3

(E) 30 9= T1 15 B &1 & G UGH Bl

-t feu U fadedi & 4 981 IR I

1. ®ddA B D E
2 ®4dA C. D, E
3. ®ddB, C D, E
4 HdAA B, C, D

Options :

878270178613. 1
878270178614. 2
878270178615. 3
878270178616. 4

Question Number : 70 Question Id : 87827045445 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



The Ministry of Corporate Affairs (MCA) administers the following Acts/codes
(A). The Companies Act, 2013

(B). The Indian Partnership Act, 1932

(C). Insolvency and Bankruptcy Code, 2016

(D). The Competition Act, 2002

(E). Wild Life (Protection Act), 1972

Choose the correct answer from the options given below:

1. A, B, Conly.
2.A B, C,Donly.
3. A, only.

4 E, only.

Options :

878270178617. 1
878270178618. 2
878270178619. 3

878270178620. 4

Question Number : 70 Question Id : 87827045445 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



- L e

HIRURE BIY Sa0d (THaT) FafaRag st dtarsit & u=mea & e-

(A) U AHEHTE 2013

(B) YA HRTGRT Hf=Td. 1932

=

(C) fearen 3 fearferarg= dfgan 2016

(D) W=l sffEfaa. 2002

(E) 3Tl (T&m Hfef=gH). 1972

-t feu U fadedi & 4 981 IR I

1. ®adA B, C
2 ®ddA B C D
3. ®Had A

4 HAAE

Options :

878270178617. 1
878270178618. 2
878270178619. 3

878270178620. 4

Question Number : 71 Question Id : 87827045446 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



The Pradhan Mantri Rojgar Protsahan Yojana (PMRPY) was launched in 2016 aims at
(A). To incentivise employers for creation of new employment

(B).To incentivise for employees to upskill themselves

(C). To incentivise for employees to help them find more raw materials

(D). To incentivise for employers for increased goods sold

(E). To incentivise for employers for increased market demand

Choose the correct answer from the options given below:

1. (B) only.
2. (A) only.
3. (D) and (E) only
4. (C) only

Options :

878270178621. 1
878270178622. 2
878270178623. 3

878270178624. 4

Question Number : 71 Question Id : 87827045446 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



YA AR WidTe gl (JTasRyars) 2016 H I @1 T3 4

(A) U ISR & Goid & Toru Fraraarsdi &1 Uidfed &l

(B) BHANG! & 304 DI 39d B4 & (0 Uiedlied Bl
(C) HHARG! &I AT Tl I WioH 8 066 ® & 0T Uidliad S
(D) A1 @1 fasl | afS & o Fatearsdi & uiefed &3

(E) 9T9IR @1 Sgal 51 & fod Faiadrsit &f Uieiied &
I feu U fasedl § € T8 SR I

1.@ad (B)
2 &ad (A)
3. ®ad (D) 3R (E)
4. ®4dd (C)

Options :

878270178621. 1
878270178622. 2
878270178623. 3

878270178624. 4

Question Number : 72 Question Id : 87827045447 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Name one of the first organisation to deal with the labour issues.
(A). Collective labour law

(B). Treaty of Versailles

(C). International Labour Organisation (ILO)

(D). International federation of Trade Union (IFTU)

(E). Indian Union of Labour (IUL)

Choose the correct answer from the options given below:

1. (A) only.
2. (B) and (D) only.
3. (C) only
4. (E) only.

Options :

878270178625. 1
878270178626. 2
878270178627.3

878270178628. 4

Question Number : 72 Question Id : 87827045447 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



T Hgl 9 e 91d Ugd §7641 H T U &1 19 Jaisu|

(A) HHe® ¥H BT
(B) a9ig @I T

(C) SIRIFTT A YIS (MT)

(D) ST BEEH I <8 ZHTA (31ed)
(E) 35T o 31 TR (3Megua)

=t feu U fadedl & ¥ 981 SR |

1. &ad (A)

2. &dd (B) 3R (D)

3. &ad (C)
4 Had (E)

Options :

878270178625. 1
878270178626. 2
878270178627.3

878270178628. 4

Question Number : 73 Question Id : 87827045448 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



The Ministry has developed a Unified web portal 'Shram Suvidha Portal'

(A). To provide transparency and accountability on employment of labour as per the skills

(B). To provide transparency and accountability in enforcement of labour laws and facilitate complexity of Compliance.
(C). To provide transparency and accountability on gender specific labour laws

(D). To provide transparency and accountability on training, employment, skill development

(E). To provide transparency and accountability on trends of employment in different sectors

Choose the correct answer from the options given below:

(A), (B)and (D) only.
(A), (B) and (C) only.
B) only.

(

),
),
)
B), (C) and (D) only

1
2
3
4
Options :

878270178629. 1
878270178630. 2
878270178631. 3

878270178632. 4

Question Number : 73 Question Id : 87827045448 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



i 1 et i

U faafad fear g

TG 3 U Uahidd dd Ulea "9 gfae

(A) DI & IR Y5 & ISR R URGRIAT 3R Sdlaaeal YoM H]

(B) % B! & Wad H URGRIAN 3R Tdigag! FaH B! 3R 3UTeH B Sicad o T &

(C) ot fafky 41 B R URGRIA IR Jaieae] HgH S

(D) TR ISR, BT [ & URGRI R Ja6eal UM 3

(E) fafir &t # IR & M1 R URGRIa1 3R Salege] UGH &
41 e fowedl B Y W ST
(B) ¥R (D) Bad
(A), (B) 3R (C) Bad
(B) aq
(B), (C) 3R (D) Had

1. (A),
2. (A),
3.(8)
4. (B),

Options :

878270178629. 1
878270178630. 2
878270178631. 3
878270178632. 4

Question Number : 74 Question Id : 87827045449 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



The main objectives of Make in India are:

(A). To Promote Integrated value chain

(B). To Promote India as an important investment destination.

(C). To Promote India as a global hub is manufacturing, design and innovation

(D). To boost export of telecom

(E). To uplift urban poor households by enhancing sustainable livelihood opportunities
Choose the correct answer from the options given below:

1. (A) and (B) only
2. (B) and (D) only.
3. (A) and (E) only
4. (B) and (C) only.

Options :

878270178633. 1
878270178634. 2
878270178635. 3

878270178636. 4

Question Number : 74 Question Id : 87827045449 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



AP 3 350 & T 35U UoR o

(A) BB P d Jed 4G &I Feral ol

(B) YRd @ Udh He@yqul Ha¥l 7idod & ¥4 § §¢1al ol

(C) YRd DI U di¥d b & ©U H ggrdl &1 fai-A1v, fESg 3R 7[R §

(D) TXEAR & Fafd @f Sgmar o

(E) T 3MTSHA®T & HIWI D deid Te TRId URaR! &1 I T

=t feu U fadedl & ¥ 981 SR |

1.%ad (A) 3R (B)
2 @dd (B) 3R (D)
3. &ad (A) 3R (E)
4. @dd (B) 3R (C)

Options :

878270178633. 1
878270178634. 2
878270178635. 3

878270178636. 4

Question Number : 75 Question Id : 87827045450 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Match List-l with List-ll

List-l List-lI
(A). Direct Tax (). Excise Duty
(B). Indirect Tax (). Motor Vehicle Tax

(C). Taxes imposed by the Central Government ((lII). Property Tax

(D). Taxes imposed by the State Government (V). Wealth Tax

Choose the correct answer from the options given below:

1. (A) - (1), (B) - (1), (C) - (IV), (D) - (I
2. (A) - (I, (B) - (I, (C) - (1), (D) - (IV
3. (A) - (I, (B) - (1), (C) - (IV), (D) - (IN
(

4. (A) - (1), (B) - (1), (C) - (IV), (D} - (I

i g iga® g

Options :

878270178637. 1
878270178638. 2
878270178639. 3
878270178640. 4

Question Number : 75 Question Id : 87827045450 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Ti-1 & Y il BT HaH B

-l s lA |
(A) W&l (1) T e
(B) HUHY B (I1) Hie e &

(C) P& IXER G T T & (1) TOf &
(D) V=T FIHR GRT TRIE 7T H2|(1V) Taf a2

T T e & @ G SR I

1..(A) - (1), (B) - (IlI), (C) - (IV), (D) - (I)
2. (A) - (lln), (B) - (IN), (C) - (1), (D) - (IV)
3. (A) - (1), (B) - (1), (C) - (IV), (D) - (11}
4. (A) - (), (B) - (1), (C) - (IV), (D) - (1)

Options :

878270178637. 1
878270178638. 2
878270178639. 3
878270178640. 4



